Tableaux des Puissances de Dix (G)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (G) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 0,001 0,1 0,01
19 0,0019 0,019 1,9 0,19
6 0,0006 0,006 0,6 0,06
34 0,0034 0,034 3,4 0,34
2 0,0002 0,002 0,2 0,02
89 0,0089 0,089 8,9 0,89
X 0,01 0,1 0,001 0,0001
98 0,98 9,8 0,098 0,0098
9 0,09 0,9 0,009 0,0009
54 0,54 5,4 0,054 0,0054
24 0,24 2,4 0,024 0,0024
25 0,25 2,5 0,025 0,0025
X 0,01 0,0001 0,001 0,1
83 0,83 0,0083 0,083 8,3
73 0,73 0,0073 0,073 7,3
33 0,33 0,0033 0,033 3,3
94 0,94 0,0094 0,094 9,4
49 0,49 0,0049 0,049 4,9
X 0,0001 0,1 0,001 0,01
64 0,0064 6,4 0,064 0,64
73 0,0073 7,3 0,073 0,73
69 0,0069 6,9 0,069 0,69
38 0,0038 3,8 0,038 0,38
45 0,0045 4,5 0,045 0,45
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